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Instructions for the Candidates

Write your roll number in the space provided on the top of this page.

This paper consists of fifty (50) multiple-choice type of questions.

At the commencement of examination, the test booklet will be

given to you. In the first 5 minutes, you are requested to open

the booklet and compulsorily examine it as below :

(i)  To have access to the Test Booklet, tear off the paper seal
on the edge of the cover page. Do not accept a booklet
without sticker seal or open booklet.

(i)  Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Test Booklet will be
replaced nor any extra time will be given.

(i)  After the verification is over, the Test Booklet Number should
be entered in the OMR Sheet and the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked as (A), (B), (C)

and (D). You have to darken the circle as indicated below on the

correct response against each item.

Example :

where (C) is the correct response.

Your responses to the questions are to be indicated in the OMR

Sheet kept inside this Booklet. If you mark at any place other

that in the circles, the OMR Sheet will not be evaluated.

Read the instructions given in OMR Sheet carefully. Fill the

Booklet Code of Paper-l in OMR Sheet Compulsorily.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR

Answer Sheet, except for the space provided for the relevant

entries, which may disclose your identity, you will render yourself

liable to disqualification.

You have to return the OMR answer Sheet to the invigilators at the

end of the examination compulsorily and must NOT carry it with

you outside the Examination Hall.

You can take away test booklet and carbon copy of OMR Answer

Sheet after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator, electronic gadgets or log table, etc. is

prohibited.

There is no negative mark for incorrect answer.

In case of any discrepancy found in the Hindi translation of

a test booklet the question in English version shall be taken

as final.
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1. Which of the following statements are true
with special reference to memory level of
teaching?

1. Teaching is related to subject.

2. Teaching-Learning process is
basically Response-Stimulus.

3. Herbart is the main proponent of
memory level.

4, It is the thoughtful level of teaching.

(A) 1and 2
(B) 1and 3
© 1,2and 3
(D) 1,2and 4
2. Which one of the following is not ‘Nature of
Teaching'?

(A) Teaching is a process of
development and learning.

(B) Teaching causes a change in
behaviour.

(@] Teaching is an art of behaviour.

D) Teaching is face-to-face encounter.
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3. Given below are two Statements : TP R E:
Statement I : Maximum performance tests
are designed to assess the upper limits of R 12 AR e e, aentay
the examinee’s knowledge and abilities. F M AR HAT B HUO @ w
AR A & TR § oA T ST
Statement II : Typical response tests are |
designed to measure the behaviour and
characteristics of examinees.
%o 11 : iR Jfcichan e T,
In light of the above statements, choose the TERE & @@er R O H A
most appropriate answer from the option HE P T 9 @R He 1 2
given below :
(A).  Both Statement I and Statement II (A)  FF 1A FF A 98
are correct.
(B).  Both Statement I and Statement I B)  FF A o 13T T &
are incorrect.
(C).  Statementlis correctand Statement C  FFIEE ¥ IR Fu 1179 8
1T is incorrect.
(D).  Statement I is incorrect but (0) & [T & Sl o 11 8@l
Statement II is correct. 2
4. Which one of the following is the main fFefafaa & 9 Qe &1 e gg\%g'q
objective of teaching? F-91 37
(A)  To give proper information about (A)  UITRA Td uggad & 9} A
syllabus and curriculum Sfea S 3T
(B) To develop critical and creative (B) BRI T SRS Y &S
thinking of students. g faefaa s
(C)  To dictate notes and materials to (C)  BE & AgH IR WrEl FRRE
students. HT
(D)  To prepare students to pass the (D)  BET H YT WO HE SR
examination and get degree. f&l g F & [T AR &
00-W Paper-1



i

Total Number of Pages : 24

5. Which one is not a characteristic of good T q D oD Rk i Adwar &
teacher? 7
(A) A good teacher should be able to A T I R @ v qwEe
explain content T qew T Ay
(B) A good teacher should be able to B) T TS R & BB B Al
provide notes to the students 39§ |gH BT Aifeq
(C) A good teacher should be able to © U T R H GEe e
provide learning environments TS T H G¥H BT Amfeq
(D) A good teacher should be able to O T D REF B HIA-I9E
provide skill-oriented teaching RIET 39 § WM S Ay
6. Formulation of hypothesis may not be Frefofeg & 9 s aReeaHr-fmrr
required in which of the following? P AEATHA TEl B Tl &7
() Survey Method A HET TS
(B) Philosophical Studies (B) TR ST
©) Experimental Studies € U ST
(D)  Clinical Studies O  SaE (i) steEs
7. Suppose the Government wants to assess AT oY o ERe 8Y Uie 919 & 918
status of implementation of educational Rrr A & FEies @ Rafg Se
policy after every 05 years. Which of the e B - 39 Uiohd § g ST
following will be the method of research qeil AgEE Tsl Feioied ® @
used in this process ? H-G a7
(A)  Philosophical Study B i e
(B)  Cross-sectional Study (B)  AUHER & FPARNT FHTT
(C)  Survey Method C)  wawer R
(D)  Experimental Method O)  WErTe iy
00-W Paper-1
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8. Which of the following is not characteristc 8. Frifafad & | SIF-|1 STFHIM &
of Research Design? F A T 27
(A)  Subjectivity A
(B)  Verifiability (B)  HAWHIF
(©)  Regularity ©  fafhaar
(D) Predictability O @A
9. Which one is not a criteria of a good 9. HE-T1 T TS -G H qeS
research problem? TE 27
(A)  Interesting (A) e
(B) Innovation (B) NEICIE
(0] Time lineless (93] SERIRCI CEE]
(D)  Relevance O) SRR
10.  Which of the following is not correctly 10,  F=fifad § & I=-a1 T8 g‘?-ri%ﬁr Tt
matched? 37
List1 ~ Listll . TA-11
(Perspective) (Disciplinary Roots) ( qﬁﬁ&q) (aﬂsan'g?mzﬁ
(A) Ethnomethodology  Ideologies A) Tq;QT ey Ryareen]
(B) Heuristics Eiﬁgﬁg ®) ?ER;W) m
(C) Phenomenology Philosophy (C)  geqr fas™ e
(D) Hermeneutics Er?tiilé)izz]phy erary (D) amem fasm @ Gl
(efgfe) ot
00-W Paper-1
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Read the following passage carefully and

answer the question numbers 11 to 15 :

Ecosystems provide people with a variety
of goods and services, food, clean water,
clean air, flood control, soil stabilization,
pollination, climate regulation, spiritual
fulfilment and aesthetic enjoyment, to name
just a few. Most of these benefits are either
irreplaceable or the technology necessary
to replace them is prohibitively expensive.
For example, potable freshwater can be
provided by desalinating sea water, but only
at great cost. The rapidly expanding human
population has greatly modified the earth’s
ecosystem to meet their increased
requirements of some of the goods and
services, particularly food, freshwater,
timber, fibre and fuel. These modifications
have contributed substantially to human well-
being and economic development. The
benefits have not been equally distributed.
Some people have actually been harmed
by these changes. Moreover, short-term
increases in some ecosystems’ goods and
services have come at the cost of long-term
degradation of others. For example, efforts
to increase the production of food and fibre
have decreased the ability of some

ecosystems to provide clean water, regulate
flooding and support biodiversity.
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11.  Expanding human population has an oAl W SIS Ui S9E
adverse effect on : Yoedl g
1. Spiritual fulfilment 1. i fd W
2. Availability of potable freshwater 2. 99 AT e O @ ST
BLS
3. Employment
3. UFIR T
4, Biodiversity
4, SEfafaE |
Which of the statements given above are
correct? W RU T Fo+ 7§ § P-4 T8 &7
A  1,2and 3 A 1,293
B) 23 and4 B 2,3 X4
€  2and4 C 2 AX4
D) 1,2 3and4 D) 1,233 4
12.  The passage mentions that ‘some people TRee ¥ S b T o e
have actually been harmed by these IRacHl | ared | B QN # Jhe
changes’. It indicates towards : galr ' I8 9 © ¢
)] Inequitable distribution of benefits. ()] A H T fFaRom
()  Decrease in the ability of some I E® T W”WE P, q6 B
ecosystems to provide clean water, frafa @ @R Safafaya &
regulate flooding and support U T & [T 58 R
biodiversity. A @ eEar § B
(&) Only (I) is correct A Fad () T E
(B)  Only (Il) is correct (B)  @ad (I) 98 B
(C)  Both (A) and (B) are correct C @t (A R (B) WA &
(D) Neither (A) nor (B) is correct D TAAIMTAE TEE
00-W Paper-1



i

Total Number of Pages : 24

13 Which of the following is correct in the ~ 13. W&l & Haw # ffarad § & P-4

context of the passage? T 27

O s s s

B AN I SR S 98l
people.

(B) Sufficient efforts have not been (B) o &R EIECEEEIRT CERCTAE |
made to increase the production of & fore ve e @ fpw o E
food and fibre. o o .

(@] In short term, some people may be © W i rﬂ A et
harmed, but in long term, everyone o 7 ¥ Il W
will benefit from modifications in o TN OE AT e R,
earth’s ecosystem. 0 T B S

(D)  None of the above O) SR A ¥ PR Tl

14. Wit reference to the passage, considerthe 14, Ty & Hed ¥ f=ifaiad &Ml W
following statements: R #if -

(1) ltis imperative to modify the earth's (1)  AFa S H AR B e g
ecosystem for the well-being of ® Ui dF w0 gt
mankind. FEN a2

20 Technology can never replace all @  JERE F @ aRRafe
the goods and services provided AR e 2 O G| S 1
by ecosystems. R ER@B?T &I T o Tl

Which of the following statements given IR Ru U FHF F § PH-A1 FH

above is/ are correct? & /&7

(A)  Only (1) (A Fa (1)

(B)  Only(2) B @ (2)

(C)  Both(1)and (2) © aF (1)siR (2

D) Neither (1) nor (2) O TAMITIAQ

15.  According to the passage, which of the 15, TSI & STJAR F=atad § & HiA-81
following can be taken as the main reason gl & URRARER 95 & G @@

for modification of earth’'s ecosystem? A RO AT ST DT &7

() Technology @ JrenfE

(B) Increasing population (B)  F&d SEE

(C)  Lack of an integrated approach (C)  THipd SRR B HAAG

(D) Al of the above (O) SWE a4

00-W Paper-1
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16. A fixed and categorized impression of a  16. {["ﬁ ® Efi—ﬁ%ﬁﬁﬁ qqe T R W
group of people based on a predetermined AT & e W T MREd iR aigd
set of qualities is called : 4IRO 1 Fel ol ¢ -

(A) Generalizing (A EHFETT
(B)  Consistency B)  Rerar

©) Stereotyping €  wiedsd

(D)  Over-simplification O)  SHERET

17. In analogue mass communication, stories ~ 17.  TJ&J (QT-WIT‘T) SHAR # eI ¢

are
(A) TR
(A) Static
(B) Dynamic ©) T
(©)  Interactive (C)  URER HeErd® (i)
(D)  Exploratory D) @\_ﬁiﬂi’
18.  Which of the following statements is not 18,  F=fiad § 9 P&-91 F99 Gal Tl
correct? 37
(A) A good communicator cannot be a (A T 378 GO T o729 frid
good teacher. T & g

(B) A good communicator has good (B) Teh 3T T g@gﬁf Pl U
sense of humour. TG &

(C) A good communicator has wide C)  UH T GARE Pl UG i &l
reading. 9% B &

D) A good communicator has D) Teh 3T TR AT IX SRR
command over language aar &

00-W 10 Paper-1
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19.  Four conditions influence the effectiveness 19, =X RfAl s w=p2e €39 AN
of an encoded message, such as the skills, ST % ST Yl &, S ISl
attitudes, knowledge of the sender and gReehir, U9 H AW AR |
(A) Social-cultural system ® Bk st
(B) Knowledge of the receiver ®) ST S
(©)  Age of the sender € v g
(D)  Environmental issues O e g

20. The ability to communicate effectively : 20. g9El 1 § GaAK A B OFET
(A)  depends on the education level @ Rer 'R w AR o @

(B) s a natural talent that cannot be (B) U Uphis Ui © R @
learned SRS IIKEN ||

(9] always depends upon the use of (@] R FEfE & ST oY iy
technology HAT &

(D)  can be learned () TR | < o

21.  Match List-l with List-1l in the context of com- 1. HYX AcgihT & ded '@14 Gl

puter networking ﬁ?ﬁ‘” q gﬁﬁlﬁ it
- . -1 -1
P) VO|FI>StI 1. |Makes ui'ztﬁnght (B) (A1 T o A1 |1 |Se1 HaRa 1 & fee
pulses to transmit ST TRT H I
data H &
s | moke phone sals | | S [2 [61 A a7 3 Foe
(R) |URL 3. |Most aF:)propriate to o W S
connect computers in R |g e |3 |fwE B fafesT |
a small building HYX FaE HE b [T
(S) |UTP cable |4.|Textused by web I5 g9 S 2
browsers to locate a
web address on the (S) |g & @ w4 |fHEl a9 Td N qar
Internet TN $ T a9 SAeeK
R I e S
Choose the correct option: EIS IS G o
P Q@ R S e T &1 =g i
A) 4 1 2 3 P Q R S
AIEEE
€ 2 3 4 1 (C) 2 3 4 1
(D) 4 3 2 1 (D) 4 3 2 1
00-W 11 Paper-1
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22. Which social welfare scheme was launched 22, o & @ @ {lgfﬂﬂ"T % T BF-8
for children’s health and malnutrition? TR HeAT Aol & B BY
A MS A TH AR T
()  BPEL ® #Shéum
(C)  ICDS C oEHIT
(D)  PHC O WuFH
23.  Which ofthe following is a Premier database ~ 23.  frifaifad & & HF-91 WRA & ST
of profiles of Scientists, Researchers and et & HERG Jsnivien), Serbdiet ik
other faculty members working at leading I G qedi & NBEA & & T@
institutions of India? i
(A) VIDWAN ®  fEEs
(B)  E-ACHARYA B)  E-omEE
©) E-KALPA C &
O  AVIEW 0 T
24.  What are the major standards for video  24.  SHHH Jedeh UX AN HISHET g
conferencing over IP networks? S CRUIN R 27
(A) Internet Engineering Task Force (A) S CHERIIREIY F'W tbjﬁ
(IETF) Session Initiation Protocol (oTEITR) S M
(SIP) (wemd)
B - . 323 O
(B) ITU-T H.323 protocol ®) T & E aw
© o &g - & . 320 MBI
(@] ITU-T H.320 protocol
O o § A uw ogg e W
(D)  Both IETF SIP and ITU-T H.323 (ETFSIP) SR e A g - d @@
protocol 323 (ITU - TH.323) Meidid
00-W 12 Paper-1
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25.  Whatis the maximumefficiency of pure aloha 25, G=1/2 W & Tcliel &l SAHaH &l
at G = 1/2? 87
(A) 189 (A 1.89
(B) 134 (B) 184
© 18999 © 18999
O 17.99 O  17.99
26. Fill the missing sequence code : 26. Ja SAgseH e AR :
CMM, EOO, GQQ,—_, KUU CMM, EOO, GQQ, ----—---_, KUU
A 1S A 1SS
B  GSS (B)  GSS
©  GRR C) GRR
D)  ETT O)  ETT
27. Two trains leave from Mumbai to Delhi at 6~ 27. & o+ gde 6 o 3R 6:45 S ﬂ'ﬁl"é£ g
am and 6:45 am and travel at speed of 100 fawtl & for @ Bt & 3l &S 100
kmph and 136 kmph respectively. How et ufoee ol 136 f ofg € &
many kilometres from Delhi will the trains ey A R R d e
be together? ey §X o @ | erl?
A 2624 A) 2624
(B) 260 (B) 260
© 25 © 275
(D) 283.33 (D) 283.33
00-W 13 Paper-1
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28. Solve - 8. T PR :
21—1z 21_1g
1 1
2—-—— -
1 1
6—— 6——
6 6
A 2 A 2
| 4 |) 4
© 8 C 8
b 6 DO 6
29.  The MRP of article is 50% above its ~ 29.  a&] & THGTRY Il Ffwior AT &
manufacturing cost. The article is sold 50% aife B g T GU fosa
through a retailer, who earns 20% profit on T & St et %’ T A T ™
20% I Yav fefsheT,
his purchase price. The retailer gives 10% w o 8
; URE What s . TARY T 10% H g @ 31 IH
iscount on . What is the approx. profit
Pprox. ® Fefar & fow, st oo qEE gEl
percentage for the manufacturer who sells Byde o s B end e
his article to the retailer? 7 &7
A 152% A 152%
(B)  142% B)  142%
€ 13.1 % ©) 13.1 %
D) 125 % D) 125 %
00-W 14 Paper-1
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30. A dealer purchased a washing machine for ~ 30.  T& SIX = 7660 $UY § TH JRIT AMA
Rs. 7660. He allows a discount of 12% on TGUEll g8 36 Hiehd ged WX 12% i
its marked price and still gains 10%. Find 8gc A & AR BT of 10% b1 A wr
the marked price of the machine. FH 81 A0 1 AR e S bl
(A) Rs. 9575 (A) %.9575
(B)  Rs.9065 (B)  %.9065
© Rs. 9465 (@) %. 9465
(D)  Rs.9335 D)  %.9335

31. Statement : Cases of food poisoning due 31 eFg : Efior A F SRS B T A
to consumption of liquor are increasing in T AYRhaT 3 9IS 9¢ ©@ B
rural areas.

Assumptions: '
I.  Percentage of people consuming l S B HET B A AW A
liquor is more in rural areas. STt ST g e Bl
. There are many unauthorized I ST Sk 7 S ST el
spurious liquor shops in the rural T B gﬂﬁ 2
areas.
A)  Fad gRem | R @
(A) Only assumption | is implicit
N (B) %A@ gRem Il §
(B) Only assumption Il is implicit
(@] Either | or Il is implicit ©) a1 R B
(D)  Both I and Il are implicit D)  19IR Il 31 ofaffea &
00-W 15 Paper-1
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32. In the New Year's party 500 were invited. 200 32. 9T &I & Wel ¥ 500 @ &l RN
people opted for Indian food, 150 eaten Italian T T 200 AN ARG e T,
food and 100 people taken continental food. 150 AN 7 ZeIferEe Ao QAT &K 100
14 people have taken both Indian and Italian A | Fifreted wioe fo@n 14 @t =
food, 10 people have taken both Italian and AT AR Zerfeds AW @/, 10 QR
continental food and 15 people have eaten 3 EEINEE] AN Hifvesied Mt &K 15
both Indian and continental food. 6 people AN A AR Hfrested AR @M
have taken all three kind of food. Find, how 6 @R A ANl @ B @HT @A Fd
many people have only Italian food. FifoTq foh fohe™ AT At SeTioras Ao
g
A) 150
A) 150
B 120
B 120
© 101 ©) 101
33.  “Hetvabhasas” in Indian logic refers : 33, 9NAE JeuE ¥ ‘S|’ 6 dad
E
(A) Semantics
A g
(B) Tautology .
(B)  gTGRE (Sftion)
(@] Fallacy
(@] 9q
(D) Contradiction 0) oE
34. Nyaya theory of error is known as : 34, —a@ & I RiEid B Fe o ®
(A) Viparit-khyati A) EREE ]
(B) Anyata-khyati (B) STA-EAT
€  Akhyati € e
(D) Anirvacaniya-khyati O)  AEEE-E
00-W 16 Paper-1
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35. Number 3 is prime number, so are numbers &A1 3 Y & %, 39 & e 5
5 & 7. Therefore, all numbers are prime AR 7 o 2, zafoe g Hem sy
numbers. Which fallacy is committed in the T & SWih % N dN-dr Ay
above argument? T T 27
(A)  Hasty generalization A SIS § R
(B) Irrelevant conclusion (B) IR MRy
(C)  Missing the point € T TS 2
(D)  Slippery slope O) e 9 T

36.  The following table gives the percentage 36. f=ifaifad difererl T @1 $ o9
distribution of population of five states, P, T AR R & oMeR W g 991, P Q
Q, R, Sand T on the basis of poverty line . ﬁ’ C
and also on the basis of sex. Study the table R, S ST T ot SFeeAT o st
and answer the questions based on it. TN B aifow & oremEs #IRTT @R

3% MR W U & IO AR :
Proportion of Mal d Femall
st o oo oo e | soomspoen i v 7 T () I Ao (7)
Poertyline | g | (AR e | i e & R | e e | ew
1 s (M:F) (M:F)
P 35 5:6 6:7 ™ : :
Q 25 3:5 4:5 P o 5:6 6:7
R 24 1:2 2:3 q o 3:5 4:5
S 19 3:2 4:3 R 3 1:2 2:3
T 15 5:3 3:2 S 3:2 4:3
T 15 5:3 3:2
If the male population above poverty line
for state R is 1.9 million, then the total R T4 R & fAC T e & S A
population of the state R is: g6y Seern 1.9 fife 8, @ T R
% g e E
(A) 4.50 million
(A) 450 FfEs
B 4.85 million
®) (B)  4.85 ffera
© 5.35 million C) 5.35 fafergs
(D)  6.25 million D)  6.25 Mfaa=
00-W 17 Paper-1
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37. A design that unfolds in the course of a et FRAX 7Y feoTE o & S
qualitative study as the researcher makes o AT % AR G ST © ¢
ongoing design is :

A e feemE
(A) Experimental design
o _ B)  FAH-EANTHD fesTgA
(B) Quasi-experimental design
€ Exploratory design ©) dl lIi SRy
(D)  Emergent design (D) ST gam feomee
38.  Which of the following method can be used TEH 2 H ETHRTl 7 B9 W
when there is no need for accurate data? Frefaiaa 3 9 69 [ &1 S9ET e
ST T &7
(A) Data collected from the NSSO
database (A) TT T T o ST W S
Teh fha T
(B) Information gathered through (B) ST 3 T § e T
investigation H T|-5$
(C)  Personal interview (C) AR TmEIehR
D) WFE JAEERA § S T
D) Data collected from local informants Rl T

39.  Which of the following is not characteristics Frfofad § 9 $9 QASar a1 F9K
or consequence of weak data governance? 21 USTE &1 9Romy =&} 27
(A) Data duplication causes isolated A 2 IAE YD AZA BB

silos ST ®
(B)  Users do not trust the data & waste (B)  IUENTEHAT a1 @ gf&f ¥ 29
time in verifying the data. AR 999 991 T8 F &
(C) Increased  workloads  and C)  HEUR AR JEET |51
processing
(0)  I== IUTE Al S i e
(D) Prohibitive cost of high-quality data NG
00-W 18 Paper-1



i

Total Number of Pages : 24

40. Best practices for effective data governance  40. T 22T ST % [T warH fatE
include all of the following EXCEPT : # fy=foiad & Biesht g9t i 2 ¢
(A)  Building strong relationship between (A)  FIEE A AR F ST Ao
business and IT NESRCEEEIEI
(B)  Combining the use of top-down and B W ¥ {E X N ¥ W
bottom-up approaches afeeRoT & ITANT B FASH
(0] By addressing organizational © RIS Y & G qaest &
problems from the start TN D
D) Providing incentives for complying (D) 2T U I B SINSISK ®
with data governance rules. T TR S e
41, In which year The World Commission on 41, {359 Uga=er Ud faepre STERT (WCED) 9
Environment and Development (WCED) “EURT 9rEn oSy’ e ¥t Rae
published a report entitled “ Our Common 7P a¥ # TR @i
Future™?
e (A) 1995
(A) 1995
B 1992
(B) 1992 ®)
©) 1987 © 1987
(D) 1983 (D) 1983
42. Which of the following is the Millennium 42, F=ffad & § 39 weens fEw
Development Goal/Goals ? TN Y T R
()} Develop a global partnership () T diRas dEer eid s
(1) Eradicate extreme poverty ) TANE TS B e
{LD)] C'ombatHIV/AIDS, Malariaand other () T /TS, TR AR o
diseases SRS § e
(V) Ensure sustainable environment v R ; ﬁﬁl’ﬁﬁlﬂ T
Select the correct answer from the codes
given below : :ﬂ%rﬁqnqaﬁsﬁaﬁrwg -
(A) (1), (I and (IV) (A) (0, () & (V)
B) (1), (I1y, () and (IV) (B) (1), (), () AT (V)
(C) (I, (1) and (IV) (C) (I, (I ST (V)
(D) (1), (I and (IV) ©) (), (ST (V)
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43.  Given below are two statements, one 43. =9 & &N 3T T ¥ : U T TR
labelled as Assertion (a) and the other (a) AR W & T (1) el T 2l Sl
labelled as Reason (r). Read the statements I B el oiR T i ¢ g &
and choose the correct answer from the et SERESICAA ﬂﬁl’ :
code given below:

AR (a) : ST BT ST TPicies AT
Assertion (a): Forest fires are caused by AMAMET N A & B &t
both Natural and Manmade activities. 2l
Reason (r): The majority of forest fires are T (1) : AR HRT JHAH T &
caused due to natural phenomenon. FX AR B
(A).  Both (a) and (r) are true and (r) is (A) (a) 3R ) A g8 ¥ &R (n,(a)
correct explanation of (a) N T& T B
(B).  Both (a) and (r) are true and (r) is (B) (a) S () At |& & 3R (1), ()
not correct explanation of (a) H T e T B
(C).  (a)is true, but (r) is false ©  (a) W& B, qH (1) W TE &
D)  (a)is false, but (r) is true D) (o) T TEE AT () TR

4. The concept of sustainable development 44,  Had fam @ SaERen & i @ ¢

include : )
(A) OBl Yol @ G & e |
(A)  Human/societal welfare through the HIMG &0 FHIST e
protection of natural capital
(B) AT SR TRl Wl s F GER
(B)  Improve the wellbeing of the people BT
and communities
C) TS % dHs MRS AR
(C)  To conduct economic activities to i YT & ST Hfer ab-{%r b
promote and preserve long term R el il 1 s
economic wellbeing of society &l
(D) Al are correct () IO £ I
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45, Match List-1 and List-II and_ selectthe correct 45, ﬁ%ﬁq ax ﬁ%’ﬁ-u H e HivTE 9k
answer from the codes given below : 99 Ru U PiE § 98 T ﬂﬁl’ .
List- Listl gdl-1 -1
(Terms) (Meaning) (1) (a7ef)
©) Wignion | [meditl bofore an () e (1) |39 & 0 e <T
’ afteradisa);ter Tﬁw AR
(Q) |Hazard (2) INatural and man-made (Q | (2) m AR 7 i
event that has potential to ge o Siiaw & '
cause loss of life a9 P 99ET
TP s vkt | [ [om @ [ o % e
and property B B B AT T B
(S) |Response |(4) |An event natural or 2RI
et caess| 7 i [ g 9 e
property gedT o Sfiaq AR guf
H JHAH TgA &
Codes S :
P Q R S P Q R S
@ 3 2 4 1 @» 3 2 4 1
® 4 1 2 3 ® 4 2 3
© 1 3 2 4 © 1 3 2 4
O 4 3 2 1 O 4 3 2 1
46.  Which of the following are not advantages 46,  Fifviad & § HF-91 98 TN W G
0f MOOC? RIS WIGHERA (MOOC) &l T el 87
(A)  Reaching more target audience (A AR SR iR dE agE
B) Providing a uniform learning (B) THHEIH i@ & ATHT M
experience STl
(C)  Allowing customized scheduling (0  APHT AT SN & SAFH
(D) Increasing training costs (D) SR # Fedl B ()
47.  Whowasthe Chairman of Calcutta University ~ 47.  shetehaT [Aeaiencid T STENT & ofee
Education Commission? B A?
(A)  John Sargent A S "l
(B) Joseph Hartog (B) SE® BIeNT
(©)  Michel Sadler ©  WIT =W
(D)  Thomas Macaulay O)  oIFE He
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48.  The University Grants Commission came ~ 48.  fasaidieiicry S1gar START 1953 b Seaxal
into existence in 1953 for the purpose of : % foe oftae & emar?
1. Coordination of higher education 1. 3= OB W 99T
2. Determination and maintenance of 2. qed F FEiReT ol @@
standards )
3.  HAgHYN & Sel
3. Promotion of research
_ _ _ 4,  FEErEs REr @ geEr
4, Promotion of vocational education
g‘q’ﬂzﬁ Y _ ?
Which of the above is correct? R q B R
A 1only (W)
(B)  1and 4 only (B)  aw 130X 4
(C)  1and2only C)  FaF 18X 2
(D)  1,2and 3 only (D) Fad 1,23X 3
49.  Which unconventional learning programme 49, WA ¥ BN 9 IUCRIT {MRT9T HRRH
in India aims to provide opportunities for P I AT & qA Bl AW
children in rural areas to engage in RrT 3 -9 ST w8 B B
productive work along with academic IGT T&H HIT 37
learning?
g (A)  geh fagafaErd gomed
(A) Open University System
(B) Montessori Education ®) IR
(C)  National Child Labour Project © U A 4" aRF S
(NCLP) (i)
(D)  National Rural Education Mission D) -{[s@q grHEor farem e
(NREM) (coTde)
50.  As per NEP-2020 recommendations, “The 50,  wq2{i-2020 &l fawmriRen & HIE,
Anusandhan National Research Foundation “aqg{:fem TS MY BeeyH fauges”
Bill" was passed by Parliament of India in IR Pl 99 g7 769 av § aiiRa fan
which year? T Aqre
(A) 2020 (A) 2020
B 2021 B) 2021
© 2022 © 2022
D) 2023 D) 2023
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